





— n n — e e e e e e e e e e e e e e e 1. « « « .
— "3 -

8 8 — <

- L 4V < — 20 24 . ... .. 9. ...

.................................. 4. -« - ...

n T YOO 4 « « - - ..
- 241 .” s 4. - - « - . .
A=42 e 5. - « . . ..
............................ 5. « « o . ..
............................... 16 -« - -« - ..
................................ 23 . . . ...

- A-" ........................... 50 - - .« . . .
‘L@DﬁVEK ............................... 5. - « « . ..



10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

. 87 -

IA
I

- 87
- 89
- 91



10 n n

N 7o ) P

10 e 101 - « - - - -
10 d 0 - - - « - .- .
10 e 102 - « « - - . .
10 B e e e e e e e e e e e e e e e e e e e e e 102 - « « - - - .
10 e e e e e 102 - -« - . .
11 - 103 -
12 - 105
12 105+ « - « -« . .
12 e 109 « « « -« . .
12 131 « « « « - .
12 - A — -= M= ... 112 . - .
12 e 113+ « « « « - .
13 n w144 w owow
13 ZU oK AD 114 - - - « « . .
13 Z' (K 24D - ﬂ .......... 115 - « - - . -
13 e e e e e e e s e e e 116+ « « « « - .
13 e e e e e s e s s e 116+ « « « « - .
14 - 117 -






— N N —
RC | / —
SRC
222 472 415 315 17 64 10 9329 | 350|263
104 214 175 148 6 14 5 2| 33.7| 353|253
107 202 158 123 10 16 6 3| 34.8| 38.6 | 21.7
481 866 540 454 3 23 45 15| 37.3 | 38.7 | 30.1
212 401 349 273 8 20 34 14| 39.2 | 41.6 | 30.8
282 493 366 288 4 48 18 8| 345 | 358|295
3 6 59 13 5 32 7 2175|193 |17.0
662 1,260 798 690 23 3 62 20| 346 | 36.2 | 24.2
2,520 5,165 | 2,098 | 1,900 30 41 96 31| 27.9| 28.4 | 22.8
910 1,769 814 661 20 3 97 33| 29.4 | 30.2 | 26.0
1,138 2,098 935 845 12 13 51 14| 31.1 | 31.8 | 23.8
Vs 1,666 3,316 | 1,580 | 1,360 33 43 90 54| 30.6 | 31.3 | 25.8
1,935 3,743 | 1,689 | 1,482 42 18 122 25| 27.4 | 278 | 24.2
10,242 | 20,005| 9,976 | 8,552 213 338 643 230| 30.7 | 31.6 | 25.3
81 172 194 127 31 13 12 11| 27.3 | 27.5 | 26.8
185 379 490 292 81 58 7 52| 31.9| 33.9|29.0
27 80 196 110 50 10 0 26| 40.8 | 48.3 | 31.3
5 9 47 32 6 0 0 9| 51.0| 57.2 | 37.8
— 189 453 942 448 218 40 6 230| 39.5| 443|353




RC |/ —
SRC
10 29 72 38 14 2 0 18| 42.1| 48.4 | 35.1
5 10 23 9 9 1 0 4| 358 | 427|313
89 138 51 27 4 0 17 3| 208 | 24.3|17.0
95 218 97 84 4 3 6 0| 16.3 | 16,5 | 15.1
67 144 59 53 3 2 1 0| 12.9| 12.8 | 14.1
133 290 121 102 4 6 9 0| 19.8 | 20.2 [ 17.4
4 7 10 7 1 2 0 0| 23.7 | 24.4 | 220
682| 1,314 | 1,264 953 100| 116 24 71| 36.4 | 38.4 | 30.3
1,085| 2,150 | 1,697 | 1,273 139 132 51| 102| 32.9 | 344 | 28.6
338 646 518 460 16 19 6 17| 41.5 | 42.8 | 31.4
9 23 97 78 8 1 1 9| 501 | 53.6 | 35.8
0 0 6 4 2 0 0 0| 44.6 | 55.2 | 23.5
13 48 76 40 18 9 1 8| 37.7 | 50.4 | 23.5
25 84 142 71 35 7 0 29| 38.7 | 45.3 | 32.1
10 33 87 44 23 10 0 10| 32.6 | 38.1 | 26.9
148 246 322 180 78 11 6 47| 38.2 | 46.0 | 28.3
543| 1,080 | 1,248 877 180 57 14| 120| 40.2 | 44.8 | 29.3
0 0 7 1 1 3 0 2| 30.2|20.0]320
2,115| 4,323 | 4,821 | 3,160 706| 313 90| 552|36.3|39.1|30.9
12,357 | 24,328 | 14,797 | 11,712 919| 651| 733| 782|325 33.6 (283
| & 24 - -
- | 24 12 -




19

s

31 %| =|= =8 - ¥
4 % 54 8 13 % 95 —
36 22 500 8 v e M 600 %
44 — 10 ~5V - |4 ¢ z | 20 %
%| £ oo 8 8 %
— 8 - 8 24 8
1 8 FY% 32%% 8
15 8 1% 1%
18 7% 290 @ { 1,464 ¢
1,194
# 238 % ° | 72he#  1,672ha%
% 0 °9 128
10 ~ |F4 - % ® -
8o Kt & Twm % 9 | % -8
16 136ha
1 8 Foi - 7Y 46
23z 700,000
1 8 7Y
2 1 56 72 1,107,500
30 - |H| £ %
30 16 Vo o 65,000
40 - |H # 8 Y% o 49,000
45 - |H 2 8 20hd¥
- |H F Y # o 57 =
46 11 43 8 197ha  ® 15% 8 15% 8
290,000
20 - % 8 22 8 177+
4t 18 8 ”-1=|1,700 )
7 < af = E7Z) =8 8 — il 0k
47 12 - 8 — o
8 25 8 464,000
- : 38 °
48 18 1% ° v o 48,000
- H woooo - ¢
48 26 Ne]| - % 8 % O (130
8 400 ) % o8 20,800




- |H —+V ks 370
49 11 19 210,000
VT 2 0 8 15 @
50 23 15% 8 20ha 31,000
52 e ° °
53 # — %oq4
53 16 = |H
54
lk—  %110mm s — oo 0
el e A w 3
54 10 20 20 49 8 Y 8 18% 8 Vs
389,000
Vs Y58 — 178hd&%s 8 Ve 8
56 12 11% 8 -
88,350
IF4 =% = ’
56 12 14 Y% ’ % ° - ’
8 8 - 9 84,160
59 a Y 8 33,700
59 22 30% 8 209,268
23
- =48 %3m0L A % os 27 ®
59 61 20 o %0 14
= E e %
— 46,779ha8 3,700 &
- 5,183
60 14Y 8 235,900
61 14 1 8
1 1% 20,000
61 8y © 68,550
61 . 16% 8 201,100
61 10 22
1
10 22 1 8 75,581
62 2y, 8 43,000
62 20 11% 8 139,900
31 21 8 — 400kre - TI v 12 | s
- AL -8 “0%fovdae. -
9 — ==
o " L\/ ; ? | < | <o 33.0
1 138 =
135ha 6,776 8
8 2,200




63 1124 300,150 20
— % AL =830 r # 1
-V v ks # 8 8 8 - ”— -” Y% 0 K7
=y 9
5 20 9
230 8 500 8 913,000
8 837,385 8 411,388 8
1,450 8 2,166,753
- ™./ 17 | =28 s -
27 17 -8 AL o= OVIaes 00 9
29 1 —V ks - % 3 = # Sof Vo
300,000 Ye 8/ — 800
7,152
340,000 Ye
23 7,152
14 132,230 Y
500 s 17 8 50
8 2,300 Y 8 4,000
Yg 8 130 8/ —
7,280
sl 58,900 Ye
n 43,940
; 8 - | -8 1/8} - -
g 0™ 10 | s 12 ~ — #
1. |L
_10\//3|r - ?I\/Ql_ 8 L Z0VI e e -
10 TIlHl -8 4 - <sof Vo
- 8
49,400 Yg
17 % 4 8 4 - <ods #
| 11 —  %212mm — sof Ve
12 - | — L <ods 4 % =t |
11 17 412 L i vV o
12 17 8 91,770 Ye 8
127,000 13% 8 7,542 Y
8 1.104 Y 8 420
8 227,836
239,000 10%
2 2 T :
25 13 8 8 8 16 8 / —
8 105,286
11 E7Z) - e
24
o - H 2 3




10 16 - == % - Aly .y 50
17 8 144 8 97%has 725ha
N g 8 s 8 8 29%% 8
22 8 53 s 70 ® 8
23 8 8 16 8
11 24
25 18 ~ ||'=| 8 8
b 2wk IV -
n 8 226ha 550 &
8 8 75 8 46 ®
- L &
13 10 153.8hag 8 24 8
12 8 31 8 28 8 8 8
10 8
15 12
14 14 - ”"" 8
- s 37 ®
16 }.36’ 8 10 s 2,473 8
87,499 8 58,950 8 148,922
16 22 - |H 9
23 8 6,703
16 ~ | o 138 @ 8
8 8 8 8
16 31 8 761 8 95 8
150 8 500 8
38 8 1,544
18 - e
138 & 34 8 10 8
138 & 805.92ha8 66 8 8
14 8 21 8 125 8 8
16 10 15 8 13 8 11 8
8 8 8 8
8 / - 14 s
399,480
% 16 17 — rﬁ ~o%nlE - -
=8 0VIaee 8 4L - 4 02 Y ™Yo
8 10 8 18%s
22.7ha 8 43 8 15 8 g 8
13 8 8 n 8
18 ig n 1224 ¢ 56% )41.48hae
TTv% 8 22Y% 8 37 8 12y 8
8 4 8 10 Ye
10 8 Y 8 31y 8 s
8 Yg 8 386 8 o 1 # 1,254,059




18 11 15 20 14 ~ o koo i £ -
AW D) 79— Yo 8 e |-
l_j/BT = & 4:»\/9 | — — ™8
Yalkovd e 8 4 n #
Ak -8 L — - % %
td Ve # — - = 1| —59 #8ov
De. zL Y8 4L PRV
- % ™= t v — 1t | %15 22 19 ~
- 8 %15 23 16 ~30 °
18 11 15 15 20 31 816 53  °
8 15 20 45 1,888 4,197
- t 48 420 = 4 100 =
+ s ewd e ¥fi 41430 8 ¥ fi 424160 %
-8 16 - 14 Ve
3V e -8 & - 20 ® ¢ fi o
>~ 10 8 @D - 120 s -41 8
l_45 8 r 8 r
¥ =V o - |H| | 0 %f Vo
a - 8 g 4 8 Y% o 9
18 11 16 4 . |H$ .
18 12 26 - - H Y% 8 # 59cd- 8
12 29 — 2 <of Ve
19 8 8 $ 40 8 9
n 8 8 8 £ 1,200 % ° 21.4 8 32
# 1956 8 — <of Ve
19 13 13 23 r 8 o koo i £
v-sH D) 82— % e Ys |-
- Y1 = 4L Vo | — - ™8
Yolfovo e« 8 d n #
A =8 2|l o0' o— 4t wmn> 2 s
td Vo £ =V - = 1| —18 #3
oVvI e # t 4 v -t — | & # o |
19 13 Vo
| 13 13 50 & 13 18 40 o
13 13 50 2,207 4,737
- 148 + s 467 2 ewd & #fi
43429 ¢fi 4>+4+80 8 i 422 s
- 10 20 % -8 13 18 00 td Ve
3Vs® - $Z] =V °
L e ve
21 20 8 59 s 24
22 21.0m/s( )
8
22 12 ;i ’ E 1z 8 8
17.9m/s( )
- Mo s L s
9
n WSW 11.0m/s 8 W 13.4m/s
24 21 8 8 n WSW 18.2m/s 8 W 21.5m/s
- ! cm
55¢cm 8 83cm
1llcm




L

oOVIes = Y =8 = -8 8
4 <of Vo
8 WSW 12.6m/s (5 )
24 8 W 25.5m/s (4 )
8 1 3.0mm 4 )
- 1 9cm (4 )
( 1 1) ( 63
2 / —5) ( 8)
/ - - <= W[ owm™ % 4 g - % -
8 <saf Ve
24 31 Lke Nef ( 0 n 7 s 910
9 2 2 /- 5 8 ks o
™ <of VvV ks # —L - %
- oaf Ve 4 | — 6 »fiPD @) —
o) _ % ™< (VA < - | & <
24 12 . td Ve
12 n SW 22.6m/s (7 )
n SW 36.7m/s 7
- ! 7cm
/ — 3 8 4,940
Loy % - L LyvyEk <ads -
8 - # ¥ oo0f Ve
24 12 8/ — 8 z | -4 Y% 9
1210 1 8 145 8/ — 6 8 12
4 ¢ ko
s - @Q?/gnz 4L -8/ — 8 ™
- <of VvV ks2 %Y |F3 1 g2 - %
- 08 Ssaf Ve
n NW 22.9m/s 2
n NW 31.4m/s 2
8 - 1 27cm 2
25 8 100cm 2
8 8 S —3 % # 81 —
¥ 9 $-| -|-§/8=I Ye00 5 =| - ||-=| - d ¥ <
of Ve
n n 3 8 969 8
8 3,041 s 8 14 8 47 48 #
Lo 2 9




- Y < - 20 24
!
(km)
]/a|||= -¥%t=E=— ™ # <oV
22 4 9 | — ~ TMs — $| dL
11. 4355.2 (140 47.8 1 6.7 . £ 270 8 4 i
9:09 - - o8 - 4 L gvoe
- 1952
s | - Y%t =< - % <ofV
6 9 | — ~ TMs 1/8||L —
# 4L -V o £ =V - - 1
27 | @ — 70cré Nof V °© # -V - =
144 09.0| 4142.3| 54 82| 1| —200cr# Nof v ° | — < -4 e
10:22 £ | 28 s 8 815 o > —
AL a\/g
0 %8 10 02 03 ~ | M6.9- %
Ve | it =0 Yaf V Yo #
30cm- 4 v
8 e 8 2 <afV
9] — ~ Mg 1/8|If - Y1 = —
# 4L SR # . - -
t]e — 55cm — Mg ¢ |8 # 8
# 8 # 8 #£06 078
g L oNgJ Vour— - |4 4 + -
L g8 | 1,200 - Fwo/ — =
27 SF WY OP o 2 | } i no | o _ 8 _ JL
0| 5218.0 ’ '
111.58 161 00.0 40, 9| Sy - 251 e < - H
' n <% ods #
40 ¢ i ox2— &L g E2
| azr =V - %1 [ oruw eo
# 15 s —R'Fo i 14 20 -
-8 d - a2 0 % o= ™o 5
VEL: mm —0Opewm 02# L1104 - Aqo2=%0
=|_ d 5o
L - £ <ofV o
31 Il— = ™sovd)aes # 4L eV o
] - - 8 — cmENg Vo
144 07.1| 4420.7 4 63| * Ay 4 vl _ . I_
8:29 5 _ ! 2 J||02—
L gve
1/8||f - Y%t = <sof Y
9 | — ~ M8 1/8|||= — J
—ovda-~ # 4 -V o E2 =V
- = 1] — 81cre Nof V © -
- ) 8 A A
11 14830.0| 4418.0| 80 81| . _ . _
7:58 - 8 - - 0= — L gvog
Ve S # - 8 #
— 8 # —o¢ % Aoz-—
L gve




(km)

L= - ™ N AN — -
o' nN:w' £ 20 25 sofV—L|dEst: um
- ™< 1 F#£10 - Aoz # A -
Ve pd e w2 | 909 834 8 £ mm
z | 61 8 n 537 o2— & 9o
> i z L Vet - %1 =— Bovdax
23 | W7430.4 S3930.0, 0O W 8.5 ] ", 4 /o 2 J
4:11 B N
- - 1] — 290cr# Nof V 9 - r
Ys |- # 8 n # £ Nof Vo
|- 4 e # 122 s 20 @
1,590 ® 2,258 @ 1,259 8 94 8
1,043 o2— 4L gy
l/8|||= - Y1 = <saof v 4 o
| = ~ T™M8 _ % AL =y 9
# oV = = 1| 8 —  cnm# Ne
36 Fve - rJﬁgv ; 8 _|
11 o2— L 9veopn2s811 15 16 17 ~ | 8
0-5112 14517.4| 4253.9| 49 72| 7k M6.9 % os v |
' 3#F— ™ # Ssaf Ve — -
™S — # dL -8 # i
- - 1] — cmENJ VeI — -
[E = o % 0Ve
8 9 8 1/8”: - Y1 = <sofV
9l = - ™ 1/s|||= - Y1 = —
£ 4 =V FYs8 z L Y8 IJ||
Ve # =V - = — 41cr ®
39 g— - — 1] # 140
16 13912.7| 3822.2| 34 7.5 £ |8 - ™ 249 — £Nof v oou—
13:01 - | n L - # 26 ©
1,960 8 6,640 8 15,297 8/ — n —
AL 9V %s $| |Ol/sj Ve - #
N T S I A
- |4 Afie— % =y
Ye |- - Y%t = <sofV ° |
43 _ o vl - ) L ~
19.212 147 00.0| 4311.0 | 30 6.9, 4 Y T _ 18cre
' Nof Vo1 — - |4 = 0o % 0V
s 1968 o 8 Y | - Yt = <0
IV ( 5)9 | — - ™8 Y |k - Y%
1 =— dovoa-s < — #
i v e # =V - = t]es
—290cr# Nof v o | — < o= # |
8 133 8 515 a>2— & g
# | 52 & 330 a2— & gV 19 39
43 - | & M7.5- % Y |
16 | 14335.0| 4044.0| 0 79,1 mHrE o sofVea-— e
9:48 s | - Yt = — # 4L =V Y%
— — < Q:i of Ve
3V 12 22 41 ~ M7.2-
% oo Ve b - Yt = sof Vel
— - ™8 1/s||f - Y1 = — #
4L Vo z— -  — 1] — 33cm
#Nof V©o o%s —16 09 51 %l -
% -8 30 3¢ 10 &£ Lk201 % t
Jlls 1L - JURVAR)

10 -



(km)

s 1973 6 17 o 8 ve | A
1= <o V( o1 — ~Jds n
# 27 8 5000 o> — L9
Ve — ~ ™8 J/B'F - Y1 = —
# i -8 # =V - = 1]
—280cre Nof v o | —  #° - #|
48 8 oz2— &L gvegve 24 11 43
17 4258.0| 14557.0| 40 7.4 |- M7.1- R Ye |
12:55 - Vgt = <sof Ve - |4 s 8
oz— % 9V - |H| | 8
Y |F # =8 # R A
| & —64crE Ngf v o ¢ |F-® 27 07 31 ~
M6.5- Y% o8 F  <of Ve
L— - ™ z 4 o8 - = 1
—21cré Ng V ©
8 57 (1982 ) o 8 v |k RV
= <af v 9 | — ~ M8 <
- L vwe oM o
o Ve Vo # v = = 1] — 78cret
21 | 14236.0| 4204.0| 40 7.1
11:32 Nof Viou— e ° ° 0=
L - 167 ® 41 s - az
- L 9V e 21 19 22 ~ | M5.8-
Y8 =V e
8 58 1983 o ve |k -
Yt = <oV 9] — ~ Mg
< — 8 OV I M« d —
Z AL = o | 8 2 L — 1/8”: -
d gve # gy — - 3
| ® — 124cr# Nef © # | — 194crw
Nof v @ | e < - % 4
( - ™< | +#10 : |
58 14 )s 8 n n # o2
26 | 13904.4| 4021.6| 14 77| 7 <$ " T:SN‘-’J \/j/sil‘_ : $:|H| b |_
11:29 w1 oy T n e
L 9 Ve - 0 | 104 s % |
3,101 8 451 8/ — - a s
cz— Lave | o l-% o
104 —e L 100 | b L—# N Ve o2e
21 15 25 ~ | M7.1- % o=V
Ak - 2 L Ly
# =V - = 1] — 42cre Nof
Vo — £2— | | o %f Vo
8 1993 o 8 v |- 8
- Y1 = sofV 9 - 1%
101k Yef V V E | so¥f ver—
| L - 8 966 —
- d4=3 - 307 ® 5311 o= 4
20%2 144 21.2| 4255.2| 101 7.5 DU on ! i E %o g N V9 .
' | 0 8 # | % < Fod{vfiv
21— % M- o - %
4 oz# Edvoe s 23 43 -
M4.8- Y =V

- 11 -




(km)

8 (1993 ) 9 Ys |-
4 - # <sof V( oL - -
™ Y8 =8 ]/8|F - Y1 = — .
—. o = 8 - -8 a L 9
Ve -~ - ™ - | 7 MNY%o #
=8/ — = << L~ 0 L 4y
— < -k e A - z | 201
£ | 202 8 28 ® 323 -
1,009 & n 676 a>— L gV —
t e # 29 - =V FYs
12 | 139108| 42469 35 8| T, *" A -
22:17 #]30 - vq=m™ o -
z L — | - o= ™™y 9 £ —
- - = t]s # 175cm { 4 =z
N vogvVe %] e —avisozl -~ o8
8 - % o¢® —»fii fi #| 4L
- 4 - 0z — %N Vo o %8
04 42 ~ |8/ 432- el < 4V #
M6.3— 7R Ye |F
- Yt = — L - ™ g sofVel—
- ™ 0 Y% =8 - - 1]
— 16cré N V °
8 1994 o 8 Ys |k
- Y1 = <sof Y ol = - ||>=|8
Ve — 8 o0VvIae-~ # i
-8 Z|FE) P Vem 8t mn2zl 1 dve
£ -V - - 1] — 168crH
Ned © # =V - - 1] — 84cr#
10 147 40.4 | 4322.5 | 28 82 |Nef VoI — -4 e Ak - 436
22:22 8 — 409 oz2— % V9 gVe
= | n 10 oz— % 0
Ve £| e # 8 #
oz— L 9g=m™{9 2810 16 55 ~ | s
M7.3- % ot g -
t 12cm- 4 SRV
8 15 2003 o 8 Ys |-
- Yt = L =V ° | —
~- ™S8 1/, |L _ 8 <
15 . @V9/8|r ) _ ivji 1|8$
\ 25% 14404.7| 4146.7| 45 80| s N VO L — - s y .
8 847 134 & 4
2065 o2— AL gV s 06 08 - M7.:-
Y8 =V o
Ye |F - Y%t = 1 4 =V
2)° | — - T™s Yolkovd e
8 i L -8
18 B - - " — :éé % tqVe
11 15 | 15402.8| 4642.1| 30 7.9 1
2014 # =V - = ] — 59crg & o v D
a. 2L %0 4k Ve # =V
- =t —84cr#E Nof VO I — -
. Towf Ve

12 -




!
(km)
Ve |t - Vet = L v
Sl—= ™ Yelfovo e«
19 8 4 n # &L =8
13 | 15503.1| 4656.2| 30 82| #|»0' o— b om0z % ot
13:23 Voo # =V - =t — 18cr&# Neo
=| 8 # - _ S | —
43cre N v o1 — | | oY Vo
0 Ye |- - Y1 = ik =V (
29 | 14206.5| 4127.7| 62 7|9t e * ° *
1426 oz— 4L 9gvoe e 10 09 00 ~ | & M4.8-
’ Y8 =V e
20 Ys |||= - - 1/8JTL— % =
24 | 14138.1| 39439 108 6s|’ T I ° - %
026 - Yt o= 8 207 a2— % 0V° 30
15 00 all B
b— c B % ee o ol
22 g L g L Afozs L. #
27 | W7245.0 S3550.1| 35 g8 | £+ eVl - < - kd e w2 528
1534 - % = 2010 8 # - |t
=| 8 — EZ] =V 9
8 23 2011 o 8
# 8 8 8 8 - 34 ¢
L oV Y L - Ye |F -
Yer=— ™ ¢ 14 Vo gvVe | —
-~ T™s £ 1093 8 £ 185
— — ™ L - 1/,8 1/, L
23 _ JL ~ 8 Y 1|/=8|f - Y1 E/Sl_r ™
11 | 142516| 3806.2| 24 9.0 |, n Vel — T 4 s
1446 1 -
14,786 ® 9,982 @ 83586 a=2— o
L oV 23 5 10 8 119 ~
F{ - | v — L, 23 2011
T R 5
8 o < =V 0 g 23 2011
o M9O | - <o0q°

- 13 -




]
/
n
()
() ()
A
9.00 2,000 5 1
o ,
19.40 560
v b
20.00 800 15 2
n in
11 - %t
< —
/
()
O] () ()
10,300| 10,300 180 36 1,228 | U
' ' 5.30 '
36 .
3,200 | 3,200 4 530 1,228 | u (
6,700 | 6,700 2 36 1,228 | U
’ ’ ha 530 | (
- %1 -
- 11 - %1
< —
/
()
()
(e
5 3.1 10 (




- ¢4 %1
S R
/
(ha) =
.
8 . 20 | 100
9 225 soha (
- R - %1
< —
/
(ha) =
10 4 01 | 50 o7
3
11 c - 02 | 70 N
%
3
12 e 5 o 01 | 19| 1 .
13 0.7 80ha
14 40 | 5 90ha
15 _ 08 | 3 cha
16 ﬂ' Y 150 | 6 90ha
17 — 1.0
18 B 1.0
19 B 15
20 B 05
21 _ 05
22 _ 10 | 1 .
23 30 | 2 15ha
24 6.0 .




s

/
()
h
() (ha) ()
25 L 1490[0.14| 0.7 17
ofi ofit
26 D= |1491/0.25| 1.8 49 | 2
J)
4
ofik ofit
27 D= |1492|0.15| 0.6 28
J
2
28 3.7 [34.0 65 | 1
29 ofi & 0.3 5.3
J —
30 0.5 |08 6 3ha
31 B 1.1 | 1.7
32 B 1.0 | 1.5
33 12 1.2
34 B 0.3 (0.1
35 ofi & 0.3 ]0.1 20

J) —

- 16 -




- 17 -






















































































































































































































































































































